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Pa Pa
Pa Pa m”3/min m~3/min | g/s g/s
¢ 12 100 1008 0.08760 0.27813 1.6820 5.3401
¢ 17 100 1008 0.17581 0.55819 3.3756 10.7172
AMCA
kPa kPa L/s g/s g/s g/s
60.00 100.80 3.52 | 4.226013 2.5155 4.2260




No.
m  kg/s m  kg/s m /m
*-12-C1 0.00396317 0.00405741 0.97677334 2.32
*-12-C2 0.00327670 0.00335467 0.97675626 2.32
*-17-C1 0.00408685 0.00407870 1.00199823 -0.20
*-17-C2 0.00408685 0.00407870 1.00199823 -0.20
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80.00kPa 101.30kPa
L/s g/s g/s
C 3.47 3.34 4.23
13.90 13.35 16.91
A 55.56 53.38 67.59
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(kg/s

%
No. ml m2 m3 m1/m3 m2/m3
12-12-C1 0.00402 0.00402 0.00402 1.00200 | 1.00019 -0.20 -0.02
12-12-C2 0.00342 0.00341 0.00343 0.99662 | 0.99481 0.34 0.52
17-17-C1 0.00404 0.00407 0.00404 1.00085 | 1.00593 -0.09 -0.59
17-17-C2 0.00345 0.00346 0.00344 1.00173 | 1.00535 -0.17 -0.53
24-24-B1 0.01614 0.01608 0.01602 1.00747 | 1.00385 -0.75 -0.39
24-24-B2 0.01291 0.01291 0.01284 1.00572 | 1.00587 -0.57 -0.59
40-40-B 0.01629 0.01620 0.01623 1.00380 | 0.99786 -0.38 0.21
40-40-A1 0.06203 0.06161 0.06211 0.99868 | 0.99194 0.13 0.81
40-40-A2 0.05204 0.05169 0.05207 0.99932 | 0.99262 0.07 0.74
60-60_1-A1 0.06491 0.06471 0.06466 1.00379 | 1.00076 -0.38 -0.08
60-60_2-A1 0.06489 0.06445 0.06468 1.00325 | 0.99654 -0.33 0.35
60-60_3-A1 0.06489 0.06476 0.06475 1.00221 | 1.00017 -0.22 -0.02
60-60_4-A1 0.06478 0.06467 0.06475 1.00046 | 0.99884 -0.05 0.12
60-60_1-A2 0.05257 0.05246 0.05242 1.00280 | 1.00060 -0.28 -0.06
60-60_2-A2 0.05255 0.05226 0.05245 1.00203 | 0.99648 -0.20 0.35
60-60_3-A2 0.05268 0.05251 0.05233 1.00683 | 1.00347 -0.68 -0.35
60-60_4-A2 0.05254 0.05235 0.05238 1.00318 | 0.99948 -0.32 0.05
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0.60 —+-12-12-C1 —=—12-12-C2
040 I 17-17-C1 17-17-C2
24-24-B1 24-24-B2
= 020 40-40-B —s— 40-40-A1 |
- 000 . . . . —=—40-40-A2 60-60_1-A1] 1, . . .
0.00; 0.008 0.013 0.018 0.023 60-60 2-A1 —s— 60-60 3-Al D.048 0.053 0.058 00639 0.068
020 7 60-60 4-Al 60-60_1-A2 0
-0.40 60-602-A2 —s—60-60_3-A2 !
60-60_4-A2
-0.60 1
-0.80
m3 (Kg/s)
o
ABC1 ABC2
No. 1 2

12-12-C 1.0 1.9

17-17-C -0.2 -0.2

24-24-B 0.1 0.9

40-40-A 0.3 0.6

60-60_1-A 0.3 0.3

60-60_2-A 0.3 0.3

60-60_3-A -1.4 0.1

60-60_4-A -0.2 -0.1
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